Multiplier par 10,100, 1 OOO... e

x 10 x 100 x 1 000

4x..=4000 8X...

80 3x..=300 25x...=2500

12x..=120 3x..=3000 6x..=6000 | 11x..=1100

9x..=90 2x..=2000 25x..=250 7x..=700

4x..=400 5x..=500 32x..=320 3x..=3000

Vefa & www.lutinbazar.fr

Pour verifier tes réponses, utilise la grille de correction @




Multiplier par 10,100, 1 OOO... e

x 10 x 100 x 1 000

8x..=8000 2X...

20 5x..=500 6x..=600

7x..=70 2x..=2000 3x..=3000 | 25x..=2500

4x..=40 9x..=9000 32x..=320 17x..=1700

5x..=500 3x..=300 56x..=560 |10x..=10000

Vefa & www.lutinbazar.fr

Pour verifier tes réponses, utilise la grille de correction @




Multiplier par 10,100, 1 OOO... e

x 10 x 100

4 ...=400 25X ... =250 2x..=20 2 x...=2 000
8x..=800 4%..=4000 | 12x..=1200 6x..=60
56x..=560 | 45%x..=4500 | 7x..=7000 |18x..=18000
3x..=3000 | 98x..=980 | 68x..=6800 | 5x..=500

Pour verifier tes réponses, utilise la grille de correction




Multiplier par 10,100, 1 OOO... Q

x 10 x 100 -
11x..=1100 5X..=50 25x..=250 |72x..=72000
7x..=700 2x..=2000 8x..=800 4 ...=40
46x..=460 | 14x..=1400 | 3x..=3000 |26x..=26000
7x..=7000 | 76x..=760 | 32x..=3200 | 25x...=2500

Pour verifier tes réponses, utilise la grille de correction




Multiplier par 10,100, 1 OOO... e

x 10 x 100 x 20 x 30
4x..=400 2x..=40 5x..=100 6x..=180
15x..=1500 | 32x..=320 6 x ... =600 3x..=600
85 x...=850 8x..=160 47 x ...= 4700 4x..=120
5x..=1000 4x...=800 45 x ... =450 9x..=180

Pour verifier tes réponses, utilise la grille de correction @
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Multiplier par 10,100, 1 OOO... e

x 10 x 100 x 20 x 30
15x...=1500 5x..=100 7x..=140 3x..=90

5x...=500 8x..=80 12x..=1200 | 9x..=1800
17 x...=170 3x..=60 7x..=700 9x..=270
6x..=1200 3x..=600 29 x...=290 11x..=220

Pour verifier tes réponses, utilise la grille de correction @
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